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Questions

The present day search for fuels alternative to petroleum, is due mainly to:

The Maximum risk to air travel ids form;

What would happen to types of rainfall if the earth's surface becomes all plain?

The line joining places of equal atmospheric pressure is termed_

The coldes hour of the day is approximately__

Which of the following latitudes is a great circle?

Form which of the following place the Pakistan standard time is determined?

As we go higher into he atmosphere, the air becomes:

Which of the following landforms is different form other three on the basis of the mode of
origin?

Which of the following group of countries is most famous for exporting wool and meat?

Answers Choice

A. Iran-larg war <br>

B. Strained relations between Israel
and Middle East countries <br>

C. Highly increased cost of petroleum
<br>

D. Increase in the consumption of
petroleum <br>

. Clouds <br>
rainfall <br>

Fogs <br>

Strong winds <br>

No cyclonic rainfall <br>

No orographic rainfall <br>
No convectional rainfall <br>
No frontal rainfall <br>

Contour <br>
Isohyet <br>
Isotherm <br>
Isobar <br>
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.5a.m

.9 p.m<br>
.3 a.m<br>
.10 a.m <br>

. Equator <br>
. 66°N <br>

. 20°S

. 23°S

A

B

C

D

A

B

C

D

A. Shakergarh <br>
B. Karachi <br>

C. Murree <br>

D. Multan <br>

A
B
C
D
A
B

. Thinner <br>
. Denser <br>
. Warmer <br>
. Visible <br>

. Fold

. Anticline <br>
C. Napes <br>
D. Rift valley <br>

A. Australia, Sri Lanka, Indonesia
<br>

B. Argentina, France, Chile <br>

C. Australia, Sri Lanka, New Zealand
<br>

D. New Zealand, Argentina, Italy<br>



